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1.

SECTION A
T s &

Which one of the following isot required to find the pH of a solution ?
(1) pH paper

(2) Litmus paper

(3) Universal indicator

(4) Standard pH value chart

fopdt faera &1 pH s & & fag fefafag & | gt stasgesar &l aidr 2
1) pH =

(2 feng =

(3) HERE FaH

(4) wHE pH 9= =

A drop of a liquid sample was put on the pH paper. The colour of the pH paper turned
blue. The liquid sample could be that of

(1) Lemonjuice

(2) Hydrochloric acid

(3) Sodium bicarbonate solution

(4) Ethanoic acid

fodll 2@ & T & T 48 pH 9 T Sl 75 | pH 97 &1 AT AI@r & T | I8 &F &1 A1
fohaeT & |1 &

(1) g & =

(2) eTEEERIRE 3T

(3) wifeTH arEwENE  faeET

(4) TR ST

Dilute hydrochloric acid is added to solid sodium carbonate. It is observed that

(1) nochange takes place

(2) aloudsoundis produced
(3) brisk effervescence occurs
(4) the solution turns blue
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(1) @ uRadd F& gom @
(2) o @ SO g °
(3) T FEgewEe T W ¥
(4) foeme Hem & T ®

4. Which one of the following combinations of substances would you take to prepare
sulphur dioxide gas ?

(1) Concentrated Sulphuric acid and Zinc
(2) Dilute Sulphuric acid and Zinc
(3) Dilute Sulphuric acid and Copper

(4) Concentrated Sulphuric acid and Copper

et ESATRES T a9 & e Fefdiad geref & a4 9 o g o 2
(1) ¥z qRRe o qar s

(2) a7 doRRe ot qur ik

(8) @ WERR® I TAT BT

(4) ¥z IRR® A TAT B

5. A teacher gave two test tubes, one containing water and the other containing sodium

hydroxide solution, to the students and asked them to identify the test tube containing
sodium hydroxide solution. Which one of the following can be used for correctly identifying
the test tube containing sodium hydroxide solution ?

(1) Bluelitmus
(2) Redlitmus
(3) Sodium carbonate solution

(4) Dilute hydrochloric acid

31(P)/A 3 PTO.
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(1) e forewq
(2) w@ feewas
() wifemm FEMe famaw
(4) T EEFFARE

6. Sodium bicarbonate solution is added to dilute ethanoic acid. It is observed that

(1) agasevolves
(2) asolid settles at the bottom
(3) the mixture becomes warm

(4) the colour of the mixture becomes light yellow

qifzqq SEdEe fames ® 9 UdHEE o § e W g8 uEr T 6
1) w ™ e @

(2 "H I@ wEd q@ § 9% W @

(3) faeror T & W ®

(4) for &1 W st dim B T 8

7. The odour of acetic acid resembles that of
(1) rose
(2) burning plastic
(3) vinegar

(4) Kkerosene
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(1) e
(2) ST wiiEs
3) fawem
4) fwE &1 aw

8. A student obtained a sharp image of the grill of a window on a screen, using a convex
lens. For getting better results, the teacher suggested focussing of a distant tree instead
of the grill. In which direction should the lens be moved for this purpose ?

(1) Away from the screen
(2) Veryfaraway from the screen
(3) Behindthe screen

(4) Towards the screen

fredt faamelt 9 SO oF arr 1€ W fagat ¥ @l B o e gfafes g foeam

T qRemm & fou e 4 a' gee G 6 99 B & W WO o 3w
H RIGAT HET AT | 39 I & [0 oF & fha far § forenfug frar sm =nfzw 2

1) € &F g
(2) € ¥ IJ@EE [
@) w© F 4w
(4) 9 @ AR

9. The image of a distant object is obtained on a screen by using a concave mirror. The
focal length of the mirror can be determined by measuring the distance between

(1) the object and the mirror
(2) the objectand the screen
(3) the mirror and the screen

(4) the mirror and the screen as well as that between the object and the screen
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(1) =& a0 U & /= & gl
(2) a& dar U< & 4= H A
(3) =W qar w€ & = w gl
(4) OO0 qEr 9d & G BN g0 H HY-HY qE JGT U F G bl gU

10. Which one of the following is the best set-up for tracing the path of a ray of light
through a rectangular glass slab ?
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11. The following circuit diagram shows the experimental set-up for the study, of dependence
of current on potential difference. Which two circuit components are connected in series ?

(-
@ 1
L _,__M?Z'N__(.y__

(1) Battery and voltmeter
(2) Ammeter and voltmeter
(3) Ammeter and rheostat

Y

(4) Resistor and voltmeter
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(1) = qar areHeR
(2) TUHRX TUT dleeHI
(3) UHIx dur gwr MEAw

(4) yfoUes qoar dAeeHie

12. In a voltmeter, there are 20 divisions between the 0 mark and 0-5 V mark. The leas
count of the voltmeter is

(1) 0.020V
(2) 0.025V
(3) 0.050V

4) 0.250V

fopet dicediier & Y= WX 0 fagd @ar 0.5 V fagd & 9 20 97 €1 dieeHiey & Seqad
qq T T 7
(1) 0.020V
(2) 0.025V

(3) 0.050V

(4) 0.250V

31(P)/A 8



13. For the circuits shown in figures | and Il, the voltmeter reading would be

2V 2V
o~ - -
2Q 20
MWV
+®— T@-—_
I 11

(1) 2Vincircuitland O Vin circuitll
(2) 0Vinboth circuits
(3) 2Vinboth circuits
(4) OVincircuitland 2 Vin circuitll
(eI | T ) L 5 e e 2 Ll | e e | 1 2 )
2V 2V
2Q 20
VW

I 11
(1) gRug | § 2V dar aRag Il § 0V
(2) @ uRggi F OV
(3) @l uRgdi F 2V
(4) uRwg | 4§ OV @ qRay I § 2V
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14. Which of the circuit components in the following circuit diagram are connected in
parallel ?

(1) R and Ronly
(2) R,andVonly
(3) R andVonly
(4) R,R,andV

frefafad fagq o & &9 4 aRug sega wiedswd & §diva € 2

(1) @&aw R, @ R,
(2) ®ad R, q&T V
(3) @ad R, @V
@ R,R, @ V

15. A portion of each of four destarched leaves of a plant was covered with paper strips of
various kinds. The plant was exposed to sunlight for 5 hours. Thereafter, the strips were
removed and the leaves tested for starch in the covered portion.

Which one out of the four leaves gave the starch test in the covered portion ?
(1) That covered with black paper strip

(2) That covered with green paper strip

(3) That covered with white paper strip

(4) That covered with a transparent paper strip

31(P)/A 10



16.

Rl g & 9R wrEfed gfadl § ¥ Ydd Ol & Rl AN @ [afae 9eR & @
B AT § AC-IA@T THHBY UG B 5 G qF g9 A Gl B @ M TEh
UgEATq BRI &0 afedl & & T a9 UdE UK & o W I L gdeer fear
T |

G2 LGOS 1 e T G 1 T ) e 2o 2 2| 1 ) ) G B i e
(1) St el 97 | bl o
(2) St &Y gE @ el 4
(38) St Wwhe WEl { Tl &l

(4) < UREsSTt AT @ g F ol oOF

A well stained leaf peel preparation when focussed under high power of the microscope
would show

(1) epidermal cells, stomata, guard cells each with one nucleus and many chloroplasts
(2) epidermal cells, stomata, guard cells with many nuclei and one chloroplast each
(3) stomata and guard cells without nuclei or chloroplasts

(4) stomata but no guard cells or epidermal cells

fordlt st TfRfora srferandt foreedt @t gemestt & S=o emar # wrepfad w W T R
ST ARy 2

(1) ciferad T, I (L), ERT RIET (TA% & AT UF heed dol de
eRATIF  (FATTR)

(2) iferad HIfHT, I, T FRET (IIH & AT HE bwd qAT Th eRaddsdh)
(3) g AT IR FINET (b AT ERaads & foe)

(4) g, W BE BR HIEM StEr A wifeed @
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17. The following experiment was set up to show that a gas is given out during respiration.
But there was no rise in the level of water. This was because

(1) germinating seeds have not been kept under water in the flask

(2) wateris keptinthe beaker instead of lime water

(3) the cork on the flask is made of rubber

(4) nosubstance is keptin the flask to absorb the gas given out by the seeds

Rubber cork

7E T & e & saa & &g T et &, 9 g9iu oar Eifis @ @ T |
T 9 & a9 H His Jgig el g3 | THH FHROT T &

(1) oigRa 9 # w@Re § I § T8 W@ T E

(2 9 F T b UM B WM W qd 9T T E

(3) Wk W T B WS H T §

(@) 9 F e A T oH sEdid B % fau wes | R gered @ T8

W T B

WS Hl S
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18. Given below are the stages of binary fission in amoeba. Which one out of the following
would you select as the correct sequence of these stages ?

A B C D
(1) A B,C,D
2) D,C,A B
(3) B,D,AC
4) C,A,D,B

I fomr ¥ ol ¥ fa-fogves & fafts =eor ot o 2 fefafaa & & frad 5 =won
H e HE H @ T E ?

A B C D
1) AB,C,D
2 D,C,AB
3) B,D,AC
4 C,AD,B
19. A student soaked 5 grams of raisins in 25 mL of distilled water in each of two beakers A

and B. Beaker A was maintained at 25 °C and beaker B at 50 °C. After one hour, the
student observed that the water absorbed by the raisins was

(1) sameincase ofAand B

(2) lessincaseofAthaninB

(3) exactlydoubleinA, ofthatin B
(4) exactlyfourtimesinA, ofthatin B

fordl femell ¥ &1 diet A T B H 9% § 25 mL S A Wi I9H GrE-urE O
foperfer gars | iRt A @l 25 °C e die B &l 50 °CW @M ™1 | U =9 & U9dT,
39 faemedl 4 g8 9eror fohar fo foparwenl & sEenfud o &6t |/

(1) A du B <Hf § T B
(2 AH B & gaar & &H T
(3) B & gowm # A H 3 TN ©
4 Ba guwm § A ¥ % AR T 2
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20. In the following sketch of the stomatal apparatus, the parts I, II, lll and IV were
labelled differently by four students.

@QD" "

~/A

The correct labelling, out of the following, is

(1) () guard cell, (1) stoma, (Ill) starch granule, (IV) nucleus
(2) () cytoplasm, (1) nucleus, (lll) stoma, (IV) chlorpplast
(3) () guard cell, (I1) starch, (lll) nucleus, (IV) stoma

(4) (1) cytoplasm, (II) chloroplast, (111) stoma, (IV) nucleu

I gy U el 9 & aw oAt |, N ger Vo s @R foenfEt arr fe-fRer i

@Q Y
\-\Cj/‘

et & & @Far aieT 98l §

Q) () zr =i, () T (1) == oFe (V) des
2 () =fEmEE, (1) &=6, () ™, (V) skaaes
) () ar =i, () w&wd, () F=®, (V) ™

(4) () =freeEe, (1) sRaads, () &, (V) &=d
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SECTION B
s g

21. Given below are certain chemical properties of substances.

22.

(@ Itturns blue litmus red.

(b) Itturnsred litmus blue.

(c) Itreacts with zinc and a gas evolves.

(d) Itreacts with solid sodium carbonate to give brisk effervescence.
Which out of these properties are shown by dilute hydrochloric acid ?
(1) (&) and (b)only

(2) (aand(c)only

(3) (@), (c)and (d) only

4) (b), (c)and (d) only

99 qeref % gp wEEtE o R T E)

(1) T&e i foewmg & T H AT T

(2) TEe @ foemdg & Far & AT B

() =@ Niw @ afubkar wxar & iR W et 1

(4) T& o WfEm FAMe § AMGRAT Fe A9 Jedaee T Hl 8 |
T ¥ BF-RE F P F q] SEIEIRG o ST § 7

(1) I (@) (b)

(2) @ (@)@ (c)

(3) @ (a), (c) ¥R (d)

(4) @ (b), (c) 3K (d)

A student was asked to demonstrate the following two properties of sulphur dioxide gas :
() Itis heavier than air, and
() Itis highly soluble in water.

Which two of the following four arrangements would the student use to demonstrate these
properties ?

S0,—>

80, —>=—— B A zE=zE:
1 II 111 v

(1) landll

(2) lNandlll

(3) Tlandlll

4) landlIVv
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23.

forelt foemelt & wowt SEsifeREe W & fefataa & o0 & FERE v & fau #a
T

() ¥& 9 ag q 90 &, a0
(i) TE T @ § st faow #)

I § T AR Fawdrs § g 9 famreff, = qon @ feffa &= & fou, B oar @
SYANT HAT ?

SO,—>

i l ﬁ ¥ 4> s0,
SOZ—>——_ :_ —'_-'l = _::_:.:_-—:

1 I1 111 v

(1) |3
() Il R
(3) I 3r
(4) Il 3R IV

Iron filings were added t@ solution of copper sulphate. After 10 minutes, it was
observed that the blue colour of the solution changes and a layer gets deposited on iron
filings. The colour of the solution and that of the coating would, respectively, be :

(1) yellowandgreen

(2) brown and blue

(3) redand greenish-blue

(4) greenand reddish-brown

PR qhe @ § @e gof fHamr @1 10 e & 99arq g8 qm@r @ {6 Oeas

I e T qRafdd & T § qer @8 9O W UH WA 99 T 2 | faaad a9r | 9of
W T WA B T HEL: T B ?

(1) der @ B
(2 WU dur e
(3) @@ dar BRA--rar
(4) BO TAT THE-U
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24. The current flowing through a conductor and the potential difference across its two ends
are as per readings of the ammeter and the voltmeter shown below. The resistance of the
conductor would be

(1) 0.02Q
2) 0.024Q
3) 20.0Q
4) 24.0Q

fopdil arereh # genfed forgd ey qem S & Rl & & fawar= & 99 | e J g
TT AceHieX H IIMT Uredihl & AR €| 9 B Gfokre fohdar emm 2

(1) 0.02Q
2) 0.024Q
3) 20.0Q
4) 24.0Q

25. The following instruments are available in a laboratory :
MilliammeterA, of range 0 - 300 mA and least count 10 mA
Milliammeter A, of range 0 - 200 mA and least count 20 mA
Voltmeter V, of range 0 - 5V and least count 0.2 V
Voltmeter V, of range 0 - 3 V and least count 0.3 V

Out of the following pairs of instruments, which pair would be the best choice for
carrying out the experiment to determine the equivalent resistance of two resistors
connected in series ?

(1) Milliammeter A and voltmeter Y
(2) Milliammeter A and voltmetery
(3) Milliammeter A and voltmetery

(4) Miliammeter A and voltmeter Y

31(P)/A 17 PTO.



forelt wamaen # frefafad Susr U €
feUeer A, qRET 0 - 300 MATET wad a9 = 10 mA
ity A, 9iEX 0 - 200 mMATET Swqaq a9 = 20 mA
eI V, IREX 0 - 5V de1 J(edaq |9 = 0.2 V
IR V, IREX 0 - 3 V de1 Jedaq |9 = 0.3 V

2ofieRn § HARTT &1 GioTerenl &1 e Gioel S &3 & FAN | &9 SRl § H foh

1 YR A A T IAH TIA B 2

(1) R A, @ diedHe V)

(2) FeiUdler A, dar dieeHiR V,

(3) FmiHdler A, T diweHi V,

(4) Frefitder A, @&r aeedie V)

26. In an experiment to determine equivalent resistance of two resistarglm in series,
which one of the following circuit diagrams shows the correct way of connecting the
voltmeter in the circuit ?

Al Pt (o) - (o)

11 1¢) 1" 1¢)

R1 + _ R2 Rl + - R2
ANMA—( A ——MW—] AW —(V ——A—]

(V) _A)
o= =
I it

e (o)-

R, R,
~AMWA
111 v
1) |
2 i
3) I
@) N
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TE T H AT T B 2

Al (o) Al (o)
I| \7/ ]|
R1 + - R2 Rl + - R2
(A ()
0= @)=
I I
o -
+ +
® )
R'l R2 Rl R2
b AAAA A —VWWWA—— AW
(v A}
+\V/— s
111 v
@ |
2
3 m
4 v
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27. Which one out of the following sets of diagrams correctly depicts reproduction in amoeba

and yeast ?
D —
Budding in amoeba Binary fission in yeast
- (s>
) @ Y @ of
Binary fission in amoeba Budding in yeast
@—’@ -
Binary fission in amoeba Budding in yeast
’ @ T )
Budding in amoeba - Binary fission in yeast
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28. Which one of the following is the combination of relevant materials required for setting
up an experiment to show that light is necessary for photosynthesis ?

(1) Destarched leaves, strips of black paper, starch solution and iodine crystals
(2) Apotted plant, strips of coloured paper, starch solution, iodine and potassium iodide
(3) Destarched leaves, strips of black paper, starch solution and potassium iodide

(4) Destarched leaves, strips of black paper and iodine solution

TR WIATOT & [T GehTer A9 &, 39 JaIT 8N a9y & e fefafied qaee 4 &
fore Haom o WART & fau stasgd gt anni g9 T % 2

(1) wwrERied aREl, dd HES & diedl, @ faaas dar mEEe hed

(2) A H qrEn, T RS dl ufedl, ' faad, s qer qiefiem s
(3) wrRfed ufwEl, ®id ®Fe @ uiedl, = G qar wefimm s

(4) wrEREA uftdl, # B H qiedt 9o JEEe G

29. While performing an experiment to determine the percentage of water absorbed by
raisins, the following data was obtained :

Mass of water taken in the beaker =50 g

Mass of raisins before soaking them in water =5 g

Mass of raisins after soaking in water for 2 hours =8¢
The percentage of water absorbed by raisins would be

@ =Y 100 @ 8238 100
8¢ 8g

@ B=22, 100 @ 8298 00
3g 5g

feporforel g1 STagnisr e b GiQraer S e & JanT § o sfihs 9w gu

iRt | ol 0 S 1 ZeqW e = 50 g

S H P & qeel {ohsHstl &1 geme = 5 g

S H 2 5o f & ugEnq feafuen @ g =8 g
fopQtHsTl a0 SEenfoa ST r gfaerdar ari

Q) wxloo (2) wxloo
8g 8g

€)] —(S_S)gxlOO 4) wxloo
3g S5g
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30. A student was asked to focus a permanent slide under the high power of a microscope.

This involved the following steps which have not been written in a correct sequence :

Place the slide on the stage.
Clean the microscope and lenses.
Focus the material with the help of coarse adjustment.

Place the low power objective lens above the slide.

moowp»

Sharpen the focus with fine adjustment.
F.  Bring high power objective lens over the slide.

Which one of the following is the correct sequence of steps for focussing the slide under

high power ?

1 AB,CD,E,F
2 B,AC/D,EF
3 AB,FCDE
4 B,ADCFE

foreit femedt & us Tl wieS & geAesll i IoT &Mar H R B @ (a7 Hel T4 |
Tq UiehdT & refafad ==or 2id & e s9ar @i forar @ @

A. wES & 9 W AEU)

geresll 9 I9b Wl B ATE RN |

12 e ol 1 e G o S A | el ) B e e

= AT 1 ey o wWEE & W AET|

geH guid U9 ERT WiHEd B URERd T |

IoT g9l b AHGEH WH B WEE b FW ARU

el wEe & = &War § Wi & & fou frefafad § 9 fead fafwer =won
F HA FE T 7

(1) AB,C,D,EF

(2) B,A,C,D,E,F

3) AB,FCDE

(4 B,ADCFE

mmooOw
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SPACE FOR ROUGH WORK
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